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AP Calculus Summer Assignment Answer Sheet

X =
y—3=-2(x+2)
y=2(x—5)

y+1=2(x+1)
y—2==2(x+2)
y—2=%&+2)

Domain: (—o, o) Range: 1
Domain: (—oo, o) Range: [0, )
Domain: [1, «) Range: [0, o)
Domain: (—o0,—1) U (—1, )
Domain: (—oo, ») Range: [—1, 1]

i. f(g(=3)) =10

i. g(f(3)=6

ii. f(g(x)=x*+1

iv. (g°N)() = (x—1)? +2

i. f(x)=rcosx gx) =3x
ii. f(x)=x? gx)=x+3
. f(x) =e* gx)=2x—-1
iv. f(x)=Inx g(x) =x*-3x+5
[ =57
[0 =2

c. fi(x)=2E

o

x—1

f1(x) =Inx



i f(-2)=5fW=2f()=5

iil. = -2 0 2

L g@) =3 9(0)=4,93)=6
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ii. In(3-52%)

i (%)

2X+y—z
5/2

x=1n2
__ —2+In3

X =e

0.05
3/2

x=2+e3



